Theme 1 - YED

Income Elasticity of Demand (YED)
What is YED? 


How is YED calculated?


The YED coefficient can be either positive or negative depending on the type of good or service – unlike PED (where the coefficient is always negative) in YED this aspect is important to analyse.
Negative YED:


Positive YED:


Demonstrate a positive relationship between income and quantity demanded.







Demonstrate a negative relationship between income and quantity demanded.




Degrees of YED elasticity:
YED elastic:

YED inelastic: 

Demonstrate an elastic YED diagram with a positive
coefficient below:Annotations/extra info:







Demonstrate an inelastic YED diagram with a 
positive coefficient below:Annotations/extra info:







	Type of good
	Details
	YED coefficient

	Inferior
	


	

	Normal
	


	

	Necessities
	


	

	Luxury
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Calculate the YED for the following situations and comment upon the result
1. Consumer incomes increase from an average of 30,000 per year to 33,000 per year. During the same year, the demand for cheese increased from 2.8bn to 2.856bn. What was the YED for cheese during this particular year? What kind of good was cheese during this particular year?






2. Consumer incomes increase from an average of 25,000 per year to 30,000 per year. During the same year, the demand for smartphones increased by 40%. What is the YED for smartphones during this particular year? What type of good was the smartphone during this particular year?







3. Consumer incomes increase by 10%. During the same year, the demand for coach travel decreased by 3%. What is the YED for coach travel during this particular year? What type of good was coach travel during this particular year?

Complete the table below
	Product
	Identify the type of product and explain why.
	YED coefficient? 
+/-
inelastic/elastic?

	Toothpaste
	
	

	Caviar
	
	

	Poundland cheese
	









	

	Internet
	
	



Mr Wilson’s Thinking Further Challenge
We do not distinguish between inelastic and elastic products with a negative YED – but if we did, how might you describe each type of good?
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5 Jackie’s income decreases from £2000 to £1800 per month. As a result, the number of
times Jackie goes to the cinema decreases from twice to once per month. Her income
of demand for cinema visits is:
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It may be deduced from the data in the table that

UK elasticities of demand for air travel (2011 estimates)

Price elasticity of demand

-0.6

Income elasticity of demand

+1.3

(Source: © Crown Copyright)

A air travel is a normal good and demand for it is price inelastic

B adecrease in the price of air travel will increase total revenue

C air travel is an inferior good and demand for it is price elastic

D anincrease in income will cause the price of air travel to fall

Answer

Explanation
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The table below shows UK average weekly income and selected transport statistics.
2002-2008.

Year 2002 2008

Average gross weekly household income |  £552 604
(in real terms at 2002 prices)

Billion passenger kilometres travelled by:

Cars and taxis 303 402
Buses and coaches 52 52
Bicycles 44 47
Rail 48 61

(Source: © Crown Copyright, adapted from Figures 83 and 173 n the Annual Abstractof Statstcs and
SocialTrends 2010)

The data in the table suggest that over the period
m

A The income glasticity of demand for bus and coach travel is equal to 1.0.
B Theincome elasticity of demand for travel by bicycle is negative.

€ The price elasticity of demand for ral travel is postive.

D Theincome elasticity of demand for travel by cars and taxis s positive.
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Is the YED positive or negative?
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